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« Sentence Completion 1 tevei:

Directions: Complete the sentence using the word or set of words for each blank that best fits the
meaning of the sentence as a whole.

Blue is a 6. Englishisa_

A. food A. city

B. number B. sport

C. color C. number

D. car D. language

Russia is a 7. Fiveisa

A. country A. color

B. city B. number

C. street C. city

D. number D. language
. Tennisis a 8. Adogis

A. country A. acolor

B. sport B. a country

C. fruit C. acity

D. color D. an animal
. Anappleis a 9. Los Angelesis a

A. fruit A. number

B. number B. city

C. language C. color

D. color D. language
. Aroseisa 10.Mr. Jones is a

A. food A. number

B. number B. city

C. plant C. language

D. car D. man



Answers and Explanations

1) C
Blue is a color. Choice (C) is correct.

(A) is incorrect because blue is not a food.

(B) is incorrect because blue is not a number.
(D) is incorrect because blue is not a car.

2) A

Russia is a country. Choice (A) is correct.

(B) is incorrect because Russia is not a city.
(C) is incorrect because Russia is not a street.
(D) is incorrect because Russia is not a number.
3) B

Tennis is a sport. Choice (B) is correct.

(A) is incorrect because tennis is not a country.
(C) is incorrect because tennis is not a fruit.
(D) is incorrect because tennis is not a color.
4 A

An apple is a fruit. Choice (A) is correct.

(B) is incorrect because an apple is not a number.

(C) is incorrect because an apple is not a language.

(D) is incorrect because an apple is not a color.

5 C
A rose is a plant. Choice (C) is correct.
(A) is incorrect because a rose is not a food.

(B) is incorrect because a rose is not a number.

(D) is incorrect because a rose is not a car.

6) D
English is a language. Choice (D) is correct.

(A) is incorrect because English is not a city.

(B) is incorrect because English is not a sport.

(C) is incorrect because English is not a number.
7 B

Five is a number. Choice (B) is correct.

(A) is incorrect because five is not a color.

(C) is incorrect because five is not a city.

(D) is incorrect because five is not a language.

8) D

A dog is an animal. Choice (D) is correct.

(A) is incorrect because a dog is not a color.

(B) is incorrect because a dog is not a country.

(C) is incorrect because a dog is not a city.

9) B

Los Angeles is a city. Choice (B) is correct.

(A) is incorrect because Los Angeles is not a number.
(C) is incorrect because Los Angeles is not a color.
(D) is incorrect because Los Angeles is not a language.
10) D

Mr. Jones is a man. Choice (D) is correct.

(A) is incorrect because Mr. Jones is not a number.
(B) is incorrect because Mr. Jones is not a city.

(C) is incorrect because Mr. Jones is not a language.



